1.

AT y = x2 — 2ax — 2b° —da+ 4b - 6 2] AT} xS0 HE

a® + b2 T2 (HF a, b= AF)

@ 2 @ 5 ® 8 @ 10 ® 13

]



ax? +

Ty

bx+c>09 o7} -3 <x < 20| f(x) =ax® +bx+c

= f(Bx-2) 9 ZALT}F xFH} Tht= F 4 Afo] 9
4 ) 5

@ 3 ® 3 @ 2 ® 3



(]

1248 y = % — kx + 4 0] AL} xZo0] A= T2 = Ho A
gra o), A% ko] 2 E ko] Zho] W91S o

D k<-4FE=k>4 @ k<-2EEk>2

2
@ k<-1E=k>1 @ k<-EE=k>
1

3
® k<—ZE:_%k>

A~ =
[SVRN )



ojxFgHe y = f(x) o ZE=7} ohg TRt
22, A f(P-1) =0 9 A= the
Ao =7

@® 174 @ 271 ® 371

@ 474 ® 571

\

y=f(z)

NG




5. y=x*—(a*-4a+3)x+a*+2 % y=x 9 F WFo] AF e s}o]
tigoltt. o] W, a o] k& F5Hd?

@ 4 @ 2 ® -4 @ -2 ® 3



OjAFgtE y = 22— 1 9] 1 ZL} M y = ax+b
7b o3 293t ol & A P, QollA Tt
AP xo FHBIF 1+ V2L W, 2a+b2] G
2ot} (&, a, b= f2]4olth)

y=az+b




